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NO.B1 | &BEEN (DY) kg £ = 900g £ 723H
NO.B2 | &®=En(ZL) kg % = 900g & 723
NO.B3 | HKLEI(D3Y) kg & = 900g & 950/
NO.B4 |#ED (DY) kg % = 900g & 1.512M
NO.B5 |#E1 (DY) 500g & =) 450g & 756M
NO.B6 |HE(FALA) kg & = 900g & 842
NO.B7 | ZLONWHIHZ (FRD3Y) 500g & =) 450g & 756M
NO.B8 |ZLOnWHZ(ETIL) 500g % =) 450g & 680MH
NO.C1 |FEN (DY) 500g Av " 450g v 810
NO.C2 | BEI(D53Y) 500g /v " 450g HvS 540/
NO.C3 | &1 500g v = 450g HvS 648
NO.C4 | ZLOD BRI (77D 13Y) 500g v " 450g Hv 810
NO.C5 | LMY (B3 L) 500g v = 450g v 7340
NO.C6 |RIEHZ (D) 300g HvS 432 =  529M
PEVEHKE YN (BB (D) 1kgds)
NOS'I ....... . Ea—s_t\_ED(jlz‘\‘) ....................................... Ig1kg(4§) ..................... 9 oog(44z—%) ........ 2’8OOFI;]
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NO.S2 | -&»&EEOs) kgBx) - 900g(3%) | 2,800MH
EEFOHEE (KIR-Ep5Y) 200g(14%) 180g(1%)
BB EERE, R
ocLop @Dy | 500g(10v7) = 450g(17v7)
NO.S3 | -cuuopw@EZL) | 500g(1nv7) = 450g(14v7) | 2,800
........ wB@dm)sz | .500g(1hv7) = 450g(170v7)
-EEHZE (KR TpdY)) 200g(14%) 180g (1Y)
Ry S RO
....... SHTENOI) o 1kg(1) = 900g(1%)
el ) R Tkg(15) Wy 900g(125) | 100
SKLET (DR kg (1) 900g (1)
LExARNPReA] vl B I SO
....... WO ]..500g(2nvy7) = 450g(27v7)
NOSS g s00g ony ) Wy 450glny) | 00T
BEH (D) 500g(2hy7) 450g(2hv7)
NO.D1 | BEHZEF (KiR-=pSh)) 200g & 180g & 540
EESSHHZET ‘ ‘
NOD2 | (oo Swst) Lush) 200g & 180g & 648
NO.E1 |D<SEEHZF 120g £V A86F] = 540M
NO.E2 |259=1#% 120g £V 486 540/
NO.E3 |EUx=EY 100g £~ = 70g 540
NO.F1 |H#%= 240g #R 1,188H
NO.F2 |H%es= 140g #R 734
NO.G1 | 454 500g MiE 540 =  648H
NO.G2 | 43mHs 350g Hv S 540/ = 594/
NO.H1 |#rB8 FB=fECLOHY Skg 2,916 = 3,024M
NO.H2 |#BEEZLONY 5kg 2,916 w 3,024
NO.H3 |&BEz LNy Skg 3,240/ = 3,348
NO.H4 | #RF15 108 A 1,728 = 1,836M
NO.H5 | #ERF 1@ NS5 1620 = 1720
NO.AT | R (E<BA) LEIE TkgEW5E) 702 =  777M
NO.A2 |3 (@h'a) Bkl 1050, 1,458 = 1,620
NO.A3 | K1l (L) bk TkgB17E1) 918/ = 1,026






